x+5 x<2
2x, x>2

Determine f07 f)dx if f(x) = {

o i e
Jlesdds de o] Berse) - (et sw] 4L o

&

! AR b B

j72xo{y -
* .

v ?ﬁuj m O ard B 4o see i ?ﬂffs wgﬁ hoe!
ocity of the particle at time ¢ is 6 — >, What is the 16

6. A particle moves along the x-axis. The vel

traveled by the particle from ti > =2
(A) 3 (®B) 6 ©9 ﬁ ® 27 jg%é§ AT sty [ R
| SRS
Al
neentAn

86. If f'(x) > 0 for all real numbers x and f f{f}df -0, M&ﬁmf&%&mmﬁﬁea%ﬁvﬁmfmﬁ&
function f 7/

e ?/ocs F\f L{ 7 S
(?z{ <] (%) £y) W;/ofsf MWM /{}/; fx) V“’)’
/ 4| ~4 — #V' O 4] -4 viC
5] 3 7 S| /6 -
710 (AN 1
| [ /cz/ @]
f R 4] 0 vt
&5 x| flx) [ 5T 0
‘ 4| -4 ! 71 0
-2
s ] ) | P
(o e S
e 0 - fj,ﬂ : MJ;/_ =
%{»&} \I(Z&UL‘C& Lo 5. 4
71 6

— palane®
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89. AparmiamwwaimgahaﬁsaMmammm&rtz@ zsgmea&y a{f}w% If the particle’s |

(A) 0713 (ﬁ} 1.134 (C) 6.134 (i}} &?iﬁ

~ /,'x‘k/ . 4 ¥ x'(ﬁ‘\!
_*, /2,)( ’:(.,{ S 5 7

1 v S ‘
90. Let f be a function such that j&, f(2x) dx = 10. Which of the following must be true?

i

@A) f:f{r)éz=5 w210
- e z jil
2 » ,
12 f{w jgg (4ot =20

12 )
(D) L& f(5)ydt =20

® Lff(z}dz:ﬁ

o7 ’}L‘{“%d*
“ad '
11. Using the substitution u = Jx + |, Eﬁx* dxa&mmkmw

e

\
A 3 jw Jia o @1 [ @;ifr@ o [Ea ®f

1 <
;Lj(ww
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Homework

Below is a table of f(x), g(x), and their derivatives at certain x values. It is known that f(x), g(x),
and their derivatives are continuous and differentiable for all x values.

[ 22 f'(x)dx
{(-2)- {(- S}
5.7 = ”’

f—sg’(x)dx
%( C’) a{¢

_iE

£ F(9(0)g (x)dx

fag’(x)dx’
j(%’} j(%}
947 U

2700 + g’ (0)dx
[((3-5C2])s [902-9(2)]

'24;3 +

z«t%:@

Jy g/ (FEO)f (x)dx 2
j(m;;{ 48D 3(%)

Hﬁj{"}) f {(3 5}} ﬂj( 51)

ERC)

-5 ~ 4]

EEZf(g(x)) + x?

dx g(x) o

x}f(x}« {(xg

; \,3("‘))2

20090 g0 0 2
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y-1.5-

The graph of a piecewise-linear function f, for ~1< x <4, is shown above. What is the value of

ot ST F )R

@ 1 ® 2 © 4

2-4- %

(D) 55

IfﬁSF(x)dx =12and f13 F(x)dx = 4, then f;F(x)dx =

A) -12 B) -8

0 8

D) 12

(E) 8

E) 20

Use a @ght hand Rlemann syn‘l with/ 3 subm Wual width to approximate the value of

7 Na xjdx Selected values of the function are given in the table below. —

e -
x [0 [ 1 [2[3[4]5]6] fziee
fx) | 1 5 11017126 37| "
A) 11 B) 76 C) 46 D) 38 E) 18
I MARKWALTER’S AP CALCULUS AB
v i X
v 7 59
2(37 U7 <) e <
<1 {T ¢



AP® CALCULUS AB
2005 SCORING GUIDELINES
Question 3
x (cm) L] 1 5 /ﬁ 8

Temperature . / @f
T(x) (°C) 100 93 70 { 62 55

Xy

0 1% Z 7
Amefalwireafiength8eenf;imeters(m}ﬁmmacégm.mmbkawgimwwwdvﬁmofﬁmmmpmﬂe
T(x), indegrees Celsius (°C), of the wire x cm from the heated end. The function T is decreasing and twice
differentiable.

(2) Estimate T(7). Show the work that leads to your answer. Indicate units of measure.

<5 [ |
(e cv % .2 gi oo
(%; g5 -8 -7 [ Z )
(¢) Find IzT’{x} dx, aadin@wunﬁsofmﬁxpiaiatb&waﬁng&fj:r{x}&x in terms of the temperature of the
wire. T'(x)>0
(d) Are the data in the table consistent with the assertion that 7°(x) > 0 for every x in the interval 0 < x < 8 ? Explain
your answer. L :
e = Tl [T 6T v
C) J TlHxjov = “I 1, / »
° : gs-loo = ~H4S'C

From O +o § muukes, lue total Gé"‘?“"?ﬂ e dewmperabuee of L
ve 5 4{S°C D deermts by ST
Ve -+ . . \

d] No Lecawse T'(x) =T at 4wo Fom{"“:; i Hne itenval so T'(x) has 4o
?aimﬁ zevo at  ppe fue'm'. Thie  vwane W nof mﬁwéA} N gmg;ﬁl’&'ﬁf
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e 2
T+ 1
J ; T 1 "
= += dx An . S
/; L dx S‘ X+ 2 Ax antiderivative for ————is
z (‘%Xz*'ﬂlx!)lf Pan B
e O s
‘ (5%
E%“”‘l A In (z? — 2z + 2)
- €Al '
4 2 g 2 5 Ql 0\)(
@ £ ; In t;’:ﬁ'l X2+
= [
. dx
| S(X-'VH
i;} arcsec(x1) = 4an '(x-1) +C
2e2 —8e-+6
3e arctan(x-1)
Challenging Probl
a e;%}nf roblem x+Y Ay _ \(-Q(
— u .
fxz +2x + Fas= (k=™ 4 A =AY
u+3 3
- S,.,.-- do ’LO\“gu"w u
w4k Wi b
= 4l £ () 4

= Lln(@0%6)+ 3 e

Video + Notes
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